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- 14,054,981
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NEOIS AT 50,0002 15H 750
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307 lztol & 6,123,146 5,614,586 508,560
Al 3,550,439
=] 2,572,707
10 MBI =X Al Z 2| 2 4,047,746 4,109,707 61,961
NEENASS MUK 282
65,500,000 65,500
Al 32,750
- 32,750
1)E 0t S2HA| 470,064,000 470,064
Al 235,032
- 235,032
1gotgt 2] 328,440,000 328,440
Al 164,220
- 164,220
1)=0t8t 2] 52,800,000 52,800
Al 26,400
- 26,400
NESWA SAH| 183,420,000 183,420
Al 91,710
- 91,710
NE+ns SAHI 1,936,000& 1,936
Al 968
- 968
NESNAY HRIHAH|
1,609,352,000& 1,609,352
Al 804,676
T 804,676
NO23 SEESAE 22
21,600,000 21,600
Al 10,800
- 10,800
NS 01E 22|
140,960,000 140,960
Al 70,480
T 70,480
NSIIEHI| Ltz 187,188,000& 187,188
Al 131,031
- 56,157
NHASE &t 6,978,000 6,978
Al 6,978
NAS2E 20t0elold 29
64,720,0002 64,720
Al 64,720
NNEE oMl gttt 29
32,662,000 32,662
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Al 16,331
T 16,331
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Al 1,750
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1el=elR0t W ofelold X
65,800,000 65,800
Al 32,900
T 32,900
1)2RDIE Xeld 29 X
31,000,000 31,000
Al 15,500
- 15,500
1AL T Ot HIZ HEALY
782,826,000 782,826
Al 391,413
T 391,413
11 AMEISXAEEXS 2,075,400 1,504,879 570,521
NIHEFZ (L) 2,075,400,000& 2,075,400
Al 1,452,780
- 622,620
NEE0e0ld S =g 2,167,142 1,779,926 387,216
Al 1,517,000
- 650,142
307 212+01& 2,167,142 1,779,926 387,216
Al 1,517,000
T 650, 142
10 Al2ISXIAIEEE 22X 2,167,142 1,779,926 387,216
NASE0IE 22
2,167,142,000& 2,167,142
Al 1,517,000
- 650, 142
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Al 15,960
- 15,960
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Al 15,960
T 15,960
10 Al SXAEEHE2EHI 22X 31,920 42,528 10,608
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Al 15,960
- 15,960
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T 135,848
307 lztol & 266,896 136,392 130,504
Al 133,448
- 133,448
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Al 2,400
- 2,400
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- 2,400
welud 29 X2 1,840,755 2,233,245 A392,490
Al 1,840,755
307 21201 & 1,840,755 2,233,245 A392,490
Al 1,840,755
10 Al SXAAEEHE 22X 1,840,755 2,233,245 A392,490
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1,840,755,000& 1,840,755
Al 1,840,755
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- 768,771
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Al 768,771
- 768,771
10 Al SXAEEE 22X 1,537,542 1,460,820 76,722
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- 467,157
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- 301,614
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307 gl2tol & 6,569,940 7,750,869 21,180,929
Al 6,569,940
11 AMEISXAEEES 6,569,940 7,750,869 21,180,929
N5eltd EK=2(3-5M)
6,569,940,000& 6,569,940
Al 6,569,940
Oglold 2 XI&(234l) 169,353 9,584 62,769
= 47,806
Al 78,083
- 33,464
307 212+01& 159,353 96,584 62,769
= 47,806
Al 78,083
- 33,464
10 Al SXA2EE 22X 159,353 96,584 62,769
1) I D H 98,386,000 98,386
= 29,516
Al 48,209
- 20,661
NN ZAHEI0IE A2
2,610,000 2,610
= 783
Al 1,279
- 548
Naaled2e| XS 58,357,000 58,357
= 17,507
Al 28,595
- 12,255
SAA 1A X (=24l) 13,696,179 13,937,809 A241,630
= 3,864,111
Al 6,955,870
- 2,876,198
307 @20l & 13,696,179 13,937,809 A\241,630
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= 981,49%
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T 687,047
SN MRME K (DAI2SLEZHLH]) 1,618,506 1,613,411 5,095
= 485,552
Al 793,068
T 339,886
307 glztol & 1,618,506 1,613,411 5,095
= 485,552
Al 793,068
- 339,886
10 Al2ISTIAIEEE2HIEX 1,618,506 1,613,411 5,095
NWAIRZREZHEH (RAIBHEE X2
=8 1,618,506,000& 1,618,506
= 485,552
Al 793,068
- 339,886
gR0tEs2 XA (=4l) 14,738,988 12,807,873 1,931,115
= 6,632,545
Al 5,674,510
- 2,431,933
307 212+01& 14,738,988 12,807,873 1,931,115
= 6,632,545
Al 5,674,510
- 2,431,933
1 AMISXAIEEX 14,738,988 12,807,873 1,931,115
1N02H Es2 14,738,988,000& 14,738,988
= 6,632,545
Al 5,674,510
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Al 5,488
- 2,352
307 gl2to| & 11,200 10,100 1,100
= 3,360
Al 5,488
- 2,352
10 Al SXAAEEHE 22X 11,200 10,100 1,100
NESNAY BN
11,200,000& 11,200
= 3,360
Al 5,488
- 2,352
AHIESAEIA HE XA 296,988 163,332 133,656
= 148,494
Al 74,247
T 74,247
307 elztol & 296,988 163,332 133,656
= 148,494
Al 74,247
- 74,247
10 AlRISTIAIEEE 22X 296,988 163,332 133,656
NDAIZIHESMEIA WS
296,988,000 296,988
= 148,494
Al 74,247
- 74,247
SO0ISEXNHEH =2¢ 1,006,009 959,320 46,689
Al 112,566
- 893,443
307 elztol & 1,006,009 959,320 46,689
Al 112,566
- 893,443
05 212t =S 1,006,009 959,320 46,689
et &« 2| 1,006,009,000& 1,006,009
Al 112,566
- 893,443
SOISEXNEHH FRuS(HEAY) 29,160 40,000 10,840
Al 17,4%
T 11,664
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Al 17,4%
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- 11,664
Oelold erdae|2 =9 39,782 39,290 492
Al 19,891
- 19,891
307 @12t0| & 39,782 39,290 492
Al 19,891
- 19,891
05 2ItRIE = 30,782 39,290 42
Ny etdze|2 29
39,782,000 39,782
Al 19,891
- 19,891
OlSSith OIZAL 50,000 50,000 0
Al 25,000
- 25,000
307 @I2to| & 50,000 50,000 0
Al 25,000
- 25,000
05 2ItRIE = 50,000 50,000 0
1)OtSEHTH Ol 2Ar 50,000,000 50,000
Al 25,000
T 25,000
Oelold A8 S UMwA X2 545,385 486,207 59,178
= 85,402
Al 269,846
T 190,137
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- 190,137
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NANSE HAWAL Q12|
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03 A=A FAIH| 800 800 0
NBRSAME 2% gexd
800,000 800
307 @I2t0| & 200,640 213,720 /13,080
11 AMISXAIEEX 200,640 213,720 213,080
NEZTA HOIAIL SATAD
380 *2,200Ex20L « 12 200,640
Oelold &olf & HHaEE SHl 29,531 0 29,531
Al 24,415
- 5,116
307 elztol & 29,531 0 29,531
Al 24,415
- 5,116
06 28= 29,531 0 29,531
1NYR0F M AU 18,039,000 18,039
Al 18,039
NEHA E82 S 1,109,000 1,109
Al 1,109
1)JIet HEE=K0ls BHE
151,000 151
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NEMEUHIE S 10,232,000 10,232
Al 5,116
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Oelold g 620,444 205,440 415,004
= 33,000
Al 16,500
T 570,944
=380 &= 16,600 12,600 4,000
203 HR=H| 600 600 0
03 A=A FAIH| 600 600 0
NIZYUORO0E &= 422X
600,000 600
402 2I2F X201 & 16,000 12,000 4,000
03 2I2+LAEAISHI 16,000 12,000 4,000
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=380 0l8 JIs22t] 66,000
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336,000 x4 x5 6,720
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DAIENEE] & 1K
125,000,000 125,000
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NHEY QADHE AlY E22 & AFZCHY
2 M 3,000,000& 3,000
208 ARE | 400 400
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DHBM QATNH BEXR ALEX
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01 AR 2 HSFS(RRNEERTHE) 1,573,000 1,918,000 A345,000
Nxee olgd X 1,573,000,000& 1,573,000
= 704,000
Al 434,500
- 434,500
K= SOHOHHFER Al K12 105,900 105,900 0
Al 52,950
- 52,950
307 el2tol & 105,900 105,900 0
Al 52,950
- 52,950
11 AMISXAIEEX 105,900 105,900 0
1)AE 0LOHIHEIAl XIR
100,000& %1,059 105,900
Al 52,950
- 52,950
=g X2 264,304 678,242 A413,938
= 118,937
Al 101,757
- 43,610
301 22N = 264,304 678,242 A413,938
= 118,937
Al 101,757
- 43,610
01 Al 2E A S(FRDEXMA) 264,304 678,242 A413,938
NS 254,304,000 254,304
= 114,437
Al 97,907
- 41,960
NEMotE L= 10,000,000& 10,000




A HESED
M HdoEe =Xsd
SEA

A J

=Rl JIESA gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,500
Al 3,850
- 1,650
FE=0 A 9,461,602 14,953,436 A5,491,834
= 4,257,721
Al 3,642,717
- 1,561,164
301 Eet2 NS 9,461,602 14,953,436 Ab,491,834
= 4,257,721
Al 3,642,717
- 1,561,164
01 Al EE A S (2 RDEERA) 9,461,602 14,953,436 A5,491,834
Ne220 XA 9,461,602,000& 9,461,602
= 4,257,721
Al 3,642,717
- 1,561,164
JIBHE 29 647,559 563,035 84,524
) 140,079
Al 236,308
- 271,172
203 HR=AH] 500 500
03 A=A P RN 500 500
NIIEAE 29 g2F4 500,000 500
307 @120l & 647,059 562,535 84,524
Il 140,079
Al 236,308
- 270,672
05 212t =S 647,059 562,535 84,524
1)JI=HE 29 550,342,000 560,342
) 140,079
Al 176,798
T 233,465
NEAK =< 74,414,000& 74,414
Al 37,207
- 37,207
DESSES= 19,178,000& 19,178
Al 19,178
NEMA SXELIE 3,125,000 3,125
Al 3,125
2= IS &at Al 45,040 45,040 0
307 el2to| & 45,040 45,040
05 212t =S 45,040 45,040
NItEAY A 30,340,000& 30,340




SN HEIED
33 ogIrEe sXsd
ctelr JIESK g (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NAEA 223t At 1,200,000 1,200
N2 A 8,500,000& 8,500
1) O =X+ AFY 5,000,000 5,000
CHEstE Xdgosl =24 960 960 0
201 2= 560 560
01 Al 22IH| 560 560
OIS NREs 2g4g
70,000 x8E*12] 560
203 HE=H] 400 400
0B A EZIR Y| 400 400
NOSIIE g gexa
400,000 400
L2t SS0101E KEAE 25,830 37,830 212,000
203 §FR=4 500 500 0
03 A=A 2= 500 500 0
NESO0| =X HRFA
500,000 500
307 glztol & 25,330 36,330 10,000
05 2IMRIE =3 25,330 36,330 10,000
&S0l JI=EXE 29 12,830,000& 12,830
R0Hs T2s DAl 7,500,002 7,500
NUSE JtEe B Mg
5,000,000& 5,000
N2JtEstn 29 52,940 52,861 79
Al 29,561
T 23,379
307 elztol & 52,940 52,861 79
Al 29,561
- 23,379
05 2I2tRIE =S 52,940 52,861 79
1) AL HI 11,040,000 11,040
Al 5,520
- 5,520
1)@124H] 35,718,000& 35,718
Al 17,859
- 17,859
NEM=E 5,882,000& 5,882
Al 5,882
NEXHEIE 300,000 300
Al 300
NAS eR201E X3 2,535 2,535 0
201 223 1,705 1,705
03 A2 I 1,705 1,706




A o&IED
[e]

B 04159 SNEE
el JIESK g (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
N2 25,0002 *43H *13] 1,075
N x= 430,000 *1CH 430
NEEE 2 JIEt2gHl S 200,000 200
203 AR EAY| 830 830
03 AR EZIL Y| 830 830
EERIIE BUHEAD Yox
830,000 830
NAS BRZ2IIE HEA=22 A 86,000 86,000 0
301 LEN= 86,000 86,000
02 ALRI2EH 2GS (FHAAHS, NSWE) 86,000 86,000
NHAS SRDIIE YRS X
50,0003 +860 7} ++22] 86,000
SSS0tUsH 259,154 253,385 5,769
Jl 69,893
Al 87,630
- 101,631
307 el2to| & 250,154 247,785 11,369
Il 69,893
Al 87,630
7 101,631
05 212t 259,154 247,785 11,369
NZSR0ILISE 29|
58,244,0003 404 2~ 232,976
Il 69,893
Al 81,541
T 81,542
DEZNPARES 9,778,000& 9,778
Al 4,889
- 4,889
1NEAMA SXIZE 300,0002 x4 1,200
Al 1,200
DEEELG
30,0003 x5 x40 % 123 7,200
NEHZE | 8,000,000& 8,000
0I0ts =0+ el 77,310 76,206 1,104
Al 22,680
T 54,630
307 212t01™ 77,310 76,206 1,104
Al 22,680
- 54,630
05 BIZt2(E 77,310 76,206 1,104
1N3S=|0t 10,848,000 10,848
Al 3,624
- 7,224




SN OEIIED
33 ogIrEe sXsd
ol JIESA Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1)EALRE 2124H] 56,722,000 56,722
Al 18,186
- 38,536
NEAMA M 1,740,000& 1,740
Al 870
- 870
NEAHZ A2 23] 8.,000,000& 8,000
N2E JHAAEIA X1~ 231,000 313,040 A\82,040
Al 115,500
- 115,500
301 EtE N = 231,000 0 231,000
Al 115,500
- 115,500
02 A EEHS(FIANE, XLTHE) 231,000 0 231,000
NASE JtAMHIA X
700,000& #3309+ 231,000
Al 115,500
- 115,500
orolEs X 3,211,180 3,064,957 146,223
= 963,354
Al 1,123,913
- 1,123,913
307 212+01& 3,211,180 3,064,957 146,223
= 963,3%4
Al 1,123,913
- 1,123,913
11 AMISXAIEEX 3,211,180 3,064,957 146,223
1otoIsE K& At
3,211,180,000& 3,211,180
= 963,3%4
Al 1,123,913
- 1,123,913
OlOIES XIR(AlH]) 299,721 296,860 2,861
Al 198,507
- 101,214
307 elztol & 299,721 296,860 2,861
Al 198,507
T 101,214
11 AMEISXAEEES 299,721 296,860 2,861
1)Ot0ISE XIZ (AIHI) AtdH]
299,721,000& 299,721
Al 198,507
- 101,214
N=g Otol==8l XE 342,000 468,000 126,000




SN OEIIED
33 ogIrEe sXsd
ctelr JIESK g (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 171,000
T 171,000
301 EtE NS 338,400 439,200 100,800
Al 169,200
- 169,200
02 ARSI X LGS (FHAAHS, NSWE) 338,400 439,200 100,800
NEleIx ==l XI&
300,000 x4« 122 338,400
Al 169,200
- 169,200
307 212+01& 3,600 28,800 A25,200
Al 1,800
- 1,800
11 AMEISXAEEE 3,600 28,800 N25,200
eI 300,000 x1&* 122 3,600
Al 1,800
- 1,800
Ots=g A& 8,598,300 9,894,855 1,296,555
= 5,158,980
Al 2,407,524
- 1,031,7%
301 EtE N = 8,598,300 9,894,855 21,296,555
= 5,158,980
Al 2,407,524
- 1,031,7%
01 AR 2EHSHS(RNEERTHE) 8,598,300 9,894,855 1,296,555
Nots=g =0 8,598,300,000& 8,598,300
= 5,158,980
Al 2,407,524
- 1,031,7%
AH 2 ZHI 82,380 79,236 3,144
J=2ZHI(0EIt=E) 82,380 79,236 3,144
J123HI(0EIt=m) 82,380 79,236 3,144
201 fet= 3| 52,380 43,524 8,8%
01 AtR2t2lHl 52,380 43,524 8,85
1)2Bt==2H] 3,080
NI EESHI 10,0002 x26 & *43] 1,040
ANZSE 1203 %2,000H 240
)2 NEZATL 40,0002 «5&f At 200
2)=8J Eu 200,000 x4 523 1,600
NESAHE ML & 20,0002 35 700
)J=2gRFaZ A
9,000 25 #2041 x 12 %90% 48,600




A o&IED
I HNSYAH
24

SoT oo

ghelr JI2ZHI(H&IED

RN - I BRA(E) - HRA - BES of v A
202 04| 25,200 30,912
01 =LHAHI 25,200 30,912
1)J 12220
20,0003 x252 142 %123 +30% 25,200
203 =4l 4,800 4,800
04 PAE2EERFAH 4,800 4,800

1)302! 0I5t 400,000& + 122 4,800




